'GROUP 6 STRUCTURE

1. CAB AND ACCESSORIES MOUNTING

Sun roof
1

g2

" 9 Speaker cover

Sun visor

Cab

VIEW A

T@&

Door latch

@,

Striker

1107A9CM09

- Tightening torque

ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 M6x1.0 0.49+01 35+0.7 4 M10x1.5 6.9+14 49.9+10.1
2 M8x1.25 25105 18.1+3.6 5 M12x1.75 | 12.8+3.0 92.6+21.7
3 | M1Ox15 47+0.9 34+6.5 6 | M16x2.0 29.7+4.5 215+32.5

9-10




2. CAB INTERIOR MOUNTING

Seat—

Storage
box cover

Aircon upper
cover

. Console
Wiper motor — .. . box(RH) S(t)c;(rage
cover D
Defroster
hose cover

3. |

r»“’ ‘ 5
Seat base/ l

Viscous
mount

Bottom plate

Foot rest bracket

1107A9CM10
- Tightening torque
ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 M6x1.0 0.49+0.1 35+0.7 5 M10x1.5 6.9+14 49.9+10.1
2 M6x1.0 1.05+0.2 76+14 6 M10x 1.5 827+1.7 59.8+12.3
3 | M8x1.25 3.43+0.7 24.8+51 7 | M16x2.0 29.7+4.5 215+32.5
4 M8x1.25 4.05+0.8 29.3+5.8 - - - -

9-11




3. COWLING MOUNTING

Side cover-RH

Support-RH

- Tightening torque
ltem Size kgf - m bf - ft
M6x1.0 0.49+0.1 35+0.7
2 | M8x1.25 25+05 18.1+3.6

Engine hood

3>
B
e R 1

1107A9CM11

Counterweight
screen

Support-LH

ltem Size kgf - m Ibf - ft
3 M12x1.75 12.8+3.0 92.6+21.7
4 M16x 2.0 29.7+45 215+325




4. COUNTERWEIGHT AND COVERS MOUNTING

Handle pipe

Foot board

[ |
-

Upper frame

Pump under cover
Engine under cover
Radiator under cover

Hyd tank under cover

MCV under cover

1§

wing bearing grease

rain cover

C
ur?ger cover(C)
Cab under cover(B)

Cab under cover(A)

1107A9CM12
- Tightening torque
ltem Size kof - m Ibf - ft ltem Size kof - m Ibf - ft
1 | M10x15 6.9+1.4 49.9+10.1 3 M24 x 3.0 100+15 723+109
2 | M12x1.75 12.8+3.0 92.6+21.7 - - -

9-13



